ALGEBRA 2
Name: _______________________

Unit 3, Day 11 
Date: _____________ Period: ____
Unit 3 Review Worksheet #1
Show all work and reasoning.  Use a pencil and highlight your answers.
	1.  Solve for x.  Be sure to give the exact and approximate answers.
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	2.  Find the multiplier for each.

	a)  7.1% appreciation


	b)  9.3% decay
	c)  6.4% tax
	d)  18% depreciation

	3.  Tell whether the function represents exponential growth or decay.
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	4.  Investigate each function.
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x–int: ________
y–int: ________

Domain: ___________

Range: _____________

Increasing or decreasing: _____________

Asymptote:_________________________
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x–int: ________
y–int: ________

Domain: ___________

Range: _____________

Increasing or decreasing: _____________

Asymptote:_________________________


	5.  The population of crows in Oceanside decreased from 1300 to 800 in four years.  What is the annual rate of decrease?




	6.  Given the function 
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, solve for x in the following cases:

	a)  
[image: image17.wmf]0

)

(

=

x

f



	b)  
[image: image18.wmf]30

)

(

=

x

f


	c)  
[image: image19.wmf]x

x

f

9

)

(

-

=



	7.  Given the sequence 3, 12, …

	a) Find the rule if the sequence is arithmetic.

Is 124 a term?  Explain.


	b) Find the rule if the sequence is geometric.

Is 480 a term?  Explain.

	8.  $4000 is put into an account that earns 6.5% annual interest, compounded monthly.

	a)  Write a rule A(t) for the amount in the account after t years.


	b)  In how many years will the account double?

	9.  300 grams of a radioactive isotope decay at a rate of 29% per hour.  

	a) Write a rule A(t) for the amount remaining after t hours.  


	b) How much is left after 2 days?


	c) In how many hours will there be only 20 grams?



	10.  Solve the system of equations.
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	11.  Determine the equations for the asymptotes given the graph.  Also find the domain and range.

	
	asymptotes:

domain:

range:
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	12.  Factor completely.  
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